





School Bus Service 2023-2024 - Trinity Term

The following bus routes run during term time only:

City Run AM

	1x Minibus (16 seats available)
· 07:35	Arrive Lime Tree Road (outside Squash and Tennis Club).
· 07:40	Leave Lime Tree Road, go to Thickthorn for pick up.
<u>• 08:05</u>	Arrive Town Close bus stop.
<u>• 08:15</u>	Drop off pupils at Senior School (in Cathedral grounds).
	Lower School pupils will be driven to the Lower School in one minibus.

City Run PM

	1x Minibus (16 seats available)
· 16:20	Leave Norwich Senior School. Lower School pupils will be collected in one group
	and driven to the Senior School.
· 16:42	Arrive at junction with Keswick Rd (Eaton).

Ticket Prices:

City 20 Trip Ticket	£30.00 (One way trip only)
Full Trinity Term 2024	£96.00
1st Half Trinity Term 2024	£65.00
2nd Half Trinity Term 2024	£55.00

Holt Run (AM ONLY)

	1x Minibus (16 seats available)
· 07:10	<u>Leave Holt, Budgens car park.</u>
• 07:30	<u>Leave Aylsham, Market Square.</u>
· 07:40	Leave Buxton Village Hall.
· 07:45	Leave Horstead Tithe Barn.
· 08:00	Leave Wroxham Road, Sprowston Hall lay-by.
	Drop off pupils at Senior School (in Cathedral ground). Lower School pupils will
	be escorted to Lower School.

Ticket Prices:

Holt £4.00 per trip 20 trip ticket	£80.00 AM Only
Holt Full Trinity Term 2024	£140.00 AM Only
Holt 1st Half Trinity Term 2024	£95.00 AM Only
Holt 2nd Half Trinity Term 2024	£80.00 AM Only
Aylsham £3.00 per trip 20 trip ticket	£60.00 AM Only
Aylsham Full Trinity Term 2024	£104.00 AM Only
Aylsham 1st Half Trinity Term 2024	£70.00 AM Only
	L70.00 AM OTHY
Aylsham 2nd Half Trinity Term 2024	£60.00 AM Only

Holt Run (Continued)

Buxton £2.80 per trip 20 trip ticket	£56.00 AM Only	
Buxton Full Trinity Term 2024	£100.00AM Only	
Buxton 1st Half Trinity Term 2024	£68.00 AM Only	
Buxton 2nd Half Trinity Term 2024	£57.00 AM Only	
Horstead £2.50 per day 20 trip ticket	£50.00 One Way Only	
Horstead Full Trinity Term 2024	£176.00 AM & PM	
Horstead 1st Half Trinity Term 2024	£119.00 AM & PM	
Horstead 2nd Half Trinity Term 2024	£101.00 AM & PM	
Wroxham Road £2.30 per day 20 trip ticket	£46.00	
Wroxham Road Full Trinity Term 2024	£168.00 AM & PM	
Wroxham Road 1st Half Trinity Term 2024	£113.00 AM & PM	
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	COT OO AAA 9 DAA	

£97.00 AM & PM

Horstead Run

	1x Minibus (16 seats available)
· 16:20	Leave Norwich Senior School.
· 16:30	Arrive Bus stop near White Woman traffic lights.
<u>· 16:50</u>	Arrive Horstead, Tithe Barn.

Wroxham Road 2nd Half Trinity Term 2024

Ticket Prices:

Redmayne £1.50 per day 20 trip ticket	£30.00 One way only
Redmayne Full Trinity Term 2023	£96.00 AM & PM
Redmayne 1st Half Trinity Term 2023	£65.00 AM & PM
Redmayne 2nd Half Trinity 2023	£55.00 AM & PM
Horstead £2.50 per day 20 trip ticket	£50.00 One Way Only
Horstead Full Trinity Term 2023	£176.00 AM & PM
Horstead 1st Half Trinity Term 2023	£119.00 AM & PM
Horstead 2nd Half Trinity Term 2023	£101.00 AM & PM

Lenwade Run AM

	1x Coach (53 seats available)
· 07:40	Leave Lenwade (large layby next to Norfolk Stoves/Lenwade News).
· 07:48	Leave Taverham (Bus Shelter between Silver Fox PH and petrol station).
· 07:55	Leave Drayton (Shelter opposite Drayton Tesco).
· 08:02	Leave Hellesdon (Bus Shelter at Junction with Middleton Lane).
• 08:15	Arrive Norwich School (Palace Plain).

Lenwade Run PM

	1x Coach (53 seats available)
· 16:20	Leave Norwich School (Palace Plain).
· 16:40	Arrive Hellesdon (Bus Stop at Junction with Middleton Lane).
· 16:45	Arrive Drayton (Bus Stop at Drayton Tesco).
· 16:47	Arrive at Taverham (Bus Stop next to junction with Roeditch Drive).
· 16:51	Arrive Green Bus Stop (opposite Breckfarm Lane).
· 16:55	Arrive opposite Fir Covert Road.
· 17:00	Arrive at Lenwade (large layby next to Norfolk Stoves/Lenwade News).

Lenwade Run (Continued)

_	-					•		
-		v	Δ	•	L	rı	ces	•

Lenwade £2.50 per day 20 Trip Ticket	£50.00 One way only
Lenwade Full Trinity Term 2024 2023	£176.00

Lenwade 1st Half Trinity Term 2024 £119.00 Lenwade 2nd Half Trinity Term 2024 £101.00

Taverham/Drayton/Hellesdon £2.30 per day 20 Trip Ticket£46.00Taverham/Drayton/Hellesdon Full Trinity Term 2024£168.00Taverham/Drayton/Hellesdon 1st Half Trinity Term 2024£113.00Taverham/Drayton/Hellesdon 2nd Half Trinity Term 2024£97.00

Attleborough Run AM

1x Minibus (16 seats available)

• 07:20	Leave Lidl Car Park, Attleborough.
• 07:40	Leave Ketts Park, Wymondham.
· 07:48	Pick up at Hethersett (opposite Farm Shop).
• 07:55	Leave Thickthorn Services (outside Travelodge car park).
• 08:15	Drop off pupils at Senior School (in Cathedral ground). Lower School pupils will
	be escorted to Lower School.

Attleborough Run PM

1x Minibus (16 seats available)

· 16:20	Leave Norwich Senior School. Lower School pupils will be escorted from Lower School.
<u>• 16:42</u>	Arrive at junction with Keswick Rd (Eaton).
<u>• 16:45</u>	Arrive Thickthorn Services (outside Travelodge car park).
· 16:53	Arrive at Hethersett.
<u>• 16:55</u>	<u> Arrive Ketts Park, Wymondham).</u>
<u>• 17:05</u>	Arrive Lidl Car Park, Attleborough.

Ticket Prices:

Attleborough £3.00 per day 20 trip ticket	£60.00 (one way only)
, (ct. c.c.c. c.c.g. : _c.c.c pc. c.c.g _c. cp c.c.	=======================================

Attleborough Full Trinity Term 2024 £208.00 Attleborough 1st Half Trinity Term 2024 £140.00 Attleborough 2nd Half Trinity Term 2024 £120.00

Wymondham £2.50 per day 20 trip ticket £50.00 (one way only)

Wymondham Full Trinity Term 2024£176.00Wymondham 1st Half Trinity Term 2024£119.00Wymondham 2nd Half Trinity Term 2024£101.00

Thickthorn £1.50 per day 20 trip ticket £30.00 (one way trip only)

Thickthorn Full Trinity Term 2024 £96.00
Thickthorn 1st Half Trinity Term 2024 £65.00
Thickthorn 2nd Half Trinity Term 2024 £55.00

Bungay Run AM/PM

	1x Minibus (16 seats available)
· 07:10	Leave Green Dragon, Bungay.
• 07:13 depart 07:15	All Hallows Lane (Ditchingham Bus Stop).
• 07:23 depart 07:28	Old Hall Farm (main stop).
• 07:33 depart 07:35	Kings Head, Brooke.
• 07:38 depart 07:39	Poringland Church.
• 07:41 depart 07:45	Gulf Petrol Station.
· 08:07	Drop off West Front Norwich School.
· 16:20	Leave Norwich School West Front.
<u>· 16:35</u>	Gulf Petrol Station.
· 16:39	Poringland Church.
<u>· 16.43</u>	Kings Head, Brooke.
· 16:49	Old Hall Farm.
· 17:02	All Hallows Lane (Ditchingham Bus Stop).
· 17:07	Arrive Green Dragon, Bungay.

Ticket Prices:

Bungay Full Trinity Term 2024	£176.00
Brooke Full Trinity Term 2024	£144.00
Poringland/Framingham Earl Full Trinity Term 2024	£120.00

Updated March 2024

Please note, pupils in years Lower 2 upwards may travel by bus. Unfortunately, pupils in Reception to Upper 1 are not able to travel by our service.

Tickets must be purchased on WisePay, please note there are a limited number of tickets available for each route. To plan the routes most effectively our preference is for full term tickets to be purchased, these tickets therefore attract the greatest value for money with a 20% saving compared to the 20 trip day tickets. All tickets will be checked by the driver and children should ensure they always have their current ticket with them.

The pricing has been amended on most bus routes for greater consistency across the board. The 20 trip tickets are now for one way only, your child will therefore have their ticket stamped AM and PM if relevant, we hope this allows for flexibility and ease of boarding.

Please be aware that there is a separate ticket to travel to and from Horstead - you will not need to purchase tickets for both the Redmayne and Holt routes.







